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VECTOR FORM OF BIOT SAVART LAW

qae- AAld &% (AR FHT J@IT =0
In vector form of biot — savart law we study about the law in which we can find

magnitude as well as direction of magnetic field due to small element of
current carrying wire.
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VECTOR FORM OF BIOT SAVART LAW

For vector form of biot savart law we consider an small element
of current carrying wire ¢/ and position vector of point P from dl

is vector 7', and magnetic field at a point P is 5 and it’s direction
can be found by direction of magnetic field. by using concept of
cross product of two vectors we can find vector form of biot

savart law.
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HOW TO APPLY BIOT SAVART LAW

Consider a very small current element dl on current carrying wire.
TRTATET dTeleh dR U Ueh BT YRT 3ddd dl Ald g

Connect a vector 7 from (! to that point.

Al 8 foig P d Teh ¥YUTd Ticer 7 9 Siisd &

Find the angle between dl and .
dl ¥ 7 & 1T FT HIT AT P 6|

Apply biot savart law and find dB vector
ST JUT FaTe & AT T 3UANT e dB T Al ATd B ¢ |

Add all dB vector together by using integration.
Tl dB FT THTRIA I TEIAT § 13 oIl & |




APPLICATION OF BIOT SAVART LAW
Biot-Savart & IH &1 3175|9'§I'£|’I?T

Magnetic field at the center of a current carrying circular wire-loop.

JdThR YRTATe! 9T & g 9 fdedd &

Consider a circular current carrying loop of radius R having current i, we
have to find magnetic field at it's center by using BIOT- SAVART law. To
Find magnetic field consider a small element of current carrying wire
that is (/ and position vector of center with respect to «/ which is 7

Angle between dl and 7 is 90°.

By applying BIOT-SAVART law.
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APPLICATION OF BIOT SAVART LAW

Magnetic field due to a current carrying circular section of/wire ring.
gl URTETEl e dR & Ueh ffFd & g U gFahId &1

Consider a circular current carrying section of radius X and angle at the
center is (/, having current i, we have to find magnetic field at it's center
by using BIOT- SAVART law. To Find magnetic field consider a small
element of current carrying wire that is ¢/ and position vector of center

with respect to (// which is 7 . Angle between ! and 1 vector is 90°.

By applying BIOT-SAVART law.
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